R &

o

B e

AR

A2pRO I
s -

o

R

S
T

L amem——




e B

}
i
[F—

L S

e e S
R

o } ./Af!
SN . Sl
i % \m‘..a\x‘v
B
T -
st “
ene
y

pame——
w.w e s

< v )




&

Sl
ey

it

¥

geud

\S

Y

e

it
JRT—

s
myhi

s

b

e

i

:xwxmi‘.«m
35

sl




s w;

A
Y

o

-

b
!
3
H

PE——

e

G:H,Wnsu.,
b

O o
Yl

P———

CUE P
%!%ﬁwq:

S B

-




{
|
£

% . o ¢
ey
ftﬁ&w - 3 oo

o

<8

pod e |
70"

P ﬁ
Tt =
AR o)
Edngd 5 %
fgim L
gt
o R .

i J
. / ﬁ&»
P, i, s
ny, :
e
i S
O
Wa %‘v@» e,
i " o -
1 g
i
N 5
R
y
&MWA%

M
# W










-
<5

% &
fk@@vw_w «x«iw

aﬁ?gxm ;m«sjﬁ
el F el
e \x},

R EE——

. =% i

¥

S |

& )

ol

R

smany

s B tf’
i

S AR

WWMM

i

H



-

o

L

R



7y Recent evidence suggest that obesity rates are dependent on the number of
sugar or juice sweetend drinks that are consumed each day. A researcher
wishes to test this claim and finds the results are shown below.

] <1 2 >3
Not obese 98 49 101
Obese 22 87 179

Use a 0.05 significance level to test the claim that the proyportion of children
who are obese is the same for all three categories.

a) State the null and alternate hypothosis.

b) Graph and shade the critical region. .

¢) Find the Matrix expected values, the Test Statistic, the Critical Value.

d) State the conclution of this hypothosis test.
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Use a x2 test to test the claim that in the given contingency table, the row variable and the column variable are
independent.
8) Tests for adverse reactions to a new drug yielded the results given in the table. At the 0.05
significance level, test the claim that the treatment (drug or placebo) is independent of the

reaction (whether or not headaches were experienced). Do this two ways first with a x2
test then with a two proportion z test. You should get the same answer.
| Drug Placebo
Headaches 11 7
No headaches 73 91

a) State the null and alternate hypothosis.

b) Graph and shade the critical region.

c) Find the Matrix expected values, the Test Statistic, the Critical Value.

d) State the conclution of this hypothosis test.

Now do the problem again using a 2-PropZTest.

a) State the null and alternate hypothosis.

b) Find the critical value and then graph and shade the critical region.

c) Find the Test Statistic and p-value.

d) State the conclution of this hypothosis test.
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